
Linearis Algebra eredmenyek (Dec.10.)

neptun zh1 zh2 pzh1 pzh2 Hf1 Hf2 el.vizs % Alairas ajanl.jegy
A15WV6 0 Nem .
A4T88S 0 Nem .
A86ANU 15. 19 Nem .
ABCHLD 12. 18. 35. 20. I I 87 Igen 4
C6B35A 1. 2 Nem .
CB0Y2F 14. 27. 36. 52 Igen 5
CC4CSK 14. 36. 18. I I 86 Igen 4
D9RKIN 11. 20. I I 33. 57 Igen 5
E0EOAN 0 Nem .
EK298H 25. 20. 33. I 82 Igen 4
EQQIC5 35. 32. I 93 Igen 5
EW9LOS 15. 12. 19. 43 Nem .
F66JBM 0 Nem .
F9Y7TW 33. 25. I 82 Igen 4
FG6XJF 6. 18. 20. I 57 Igen .
FPSP3E 7. 17. 8. I 41 Nem .
FZ1AKR 3. 4 Nem .
FZIE3D 11. 14 Nem .
G6HV2W 20. 16. 45 Nem .
GDVK5H 35. 38. I 101 Igen 5
GEZZWR I 9 Nem .
GKIU70 28. 11. 26. 22. I I 81 Igen 4

HGQMMH 21. 15. I 12. 54 Igen .
I1TR3H 0 Nem .
JK9RYB 3. 4 Nem .
JON6EO 20. 21. 52 Igen .
JW8DEC 21. 22. 54 Igen .
LBP8ST 0 Nem .
LRP77J 0 Nem .
M8TNTH 14. 8. 11. 32 Nem .
MET3DV 3. 2. 7 Nem .
OG17WD 18. 15. I 51 Igen .
P1UV07 20. 9. 15. I I 62 Igen .
P2MZHY 23. 16. 49 Nem .
Q3DKJS 0 Nem .
QCQJA0 33. 37. I 97 Igen 5
R0X2HM 11. 3. 18 Nem .
RWATOC 4. 5 Nem .
S4AP5X 29. 31. I 84 Igen 4
TL3Y2F 25. 9. 25. 63 Igen 3
TLFOCI 0 Nem .
TZMPTJ 0. 0 Nem .
UB4URC 17. 24. 23. 59 Igen .
VTX73J 25. 14. I 58 Igen .
VUB9YS 20. 16. I 54 Igen .
WN6YVX 10. 12. I 37 Nem .
WO02D7 34. 27. 77 Igen 4
WZZTLL 29. 22. 64 Igen 3
YIVUO7 26. 16. 53 Igen .
YNBG2A 14. 8. 18. I 49 Nem .
Z17V4D 7. 1. 10 Nem .
ZSHARI I 9 Nem .

% = ( max(zh1,pzh1) + max(zh2,pzh2) ) * (100/80) + Hf1 + Hf2.
Hf1 + Hf2 = max 9+9=18%
Megajanlott jegy: 63..75: 3, 76..88: 4, 89..189: 5.
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